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Roll …………….. 
B.A. – 10 (Bachelor of Art) 

First Year, Examination 2012 
EC-01 

Principles of Microeconomics 
O;f"V vFkZ'kkL= ds fl)kUr 

Time: 3 Hours             Max. Marks : 60 
le;% 3 ?k.Vs           iw.kkZad     % 60 
 
Note: The question paper is divided into three sections A, B and C. 
uksV% ;g iz'u i= d] [k ,oa x rhu [k.Mksa esa foHkkftr gSA 
 

Section-A/[k.M&d 
Long Answer's Question 

nh?kZ mRrjh; iz'u  
                                                                                                             2x15=30 
Note: Answer any two questions. Each question carries 15 marks. 
uksV% fdUgha nks iz'uksa ds mRrj nhft;sA izR;sd iz'u 15 vadksa dk gSA 
 
1- mnklhurk oØ fo'ys"k.k dh lgk;rk ls miHkksDrk larqyu dh fLFkfr 

dh O;k[;k dhft,A 
With the help of indifference curve Analysis explain consumer's 
equilibrium?  
 

2- ^^ek¡x dh dher yksp** dks ifjHkkf"kr dhft,A ^fcUnq yksp* rFkk ^pki 
yksp* ds vUrj dks Li"V dhft, rFkk bu nksuksa dks ekius dh fof/k;k¡ 
crkb;s\ 
Define "Price Elasticity of Demand". Distinguish between 'point 
elasticity' and 'arc elasticity' and discuss the method of measuring 
both of them? 
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3- iw.kZ izfr;ksfxrk ds vUrxZr dher fu/kkZj.k dSls gksrk gS\ 

How is the price determined under perfect competition? 
 

4- C;kt ds rjyrk vf/keku ,oa _.k ;ksX; dks"k fl)kUrksa dh foospuk 
,oa rqyuk dhft,A 
Discuss the liquidity preference and loanable funds theories of 
interest and compare them? 
 

Section-B/[k.M&[k 
Short Answer's Question 

y?kq mRrjh; iz'u  
    4x5=20 

 
Note: Answer any four questions. Each question carries 05 marks. 
uksV% fdUgha pkj iz'uksa ds mRrj nhft;sA izR;sd iz'u 05 vadksa dk gSA 
 
1- lhekUr izfrLFkkiu nj le>kb;sA 

Explain Marginal Rate of Substitution? 
 

2- lef"V ,oa O;f"V vFkZ'kkL= esa D;k vUrj gS\ 
What is difference between macro and micro economics? 
 

3- dher fu/kkZj.k esa le; rRo ds egRo dk ijh{k.k dhft,\ 
Examine the importance of time element in the determination of 
price? 
 

4- vYidkyhu vkSlr ykxr oØ U&vkd`fr dh D;ksa gksrh gS\ 
Why is Short Run Average Cost (SAC) Curve U-shapped? 
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5- ,dkf/kdkj dks ifjHkkf"kr dhft,\ 
Define monopoly? 
 

6- vkHkkl yxku D;k gS\ 
What is quasi rent? 
 

7- ykHk dk vfuf'prk ogu fl)kUr le>kb;s\ 
Explain Uncertainty bearing theory of profit? 
  

8- miHkksDrk dh cpr vo/kkj.kk dks le>kb;sA 
Explain the concept of Consumer's Surplus? 

 
 

Section-C/[k.M&x 
Objective Type Question Compulsory 

oLrqfu"B iz'u vfuok;Z 
10x1=10 

 
Note: Answer all questions. Each question carries 01 marks. 
uksV% lHkh iz'uksa ds mRrj nhft;sA izR;sd iz'u 01 vadksa dk gSA 
 
Chose the correct alternative- 
lgh fodYi pqfu;sA 
 
1- dqy mi;ksfxrk vf/kdre gS] tc 
¼d½ lhekUr mi;ksfxrk 'kwU; gS ¼[k½ lhekUr mi;ksfxrk vf/kdre gS 
¼x½ lhekUr mi;ksfxrk vkSlr 

mi;ksfxrk ds cjkcj gS 
¼?k½ vkSlr mi;ksfxrk vf/kdre gS 
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 Total Utility is maximum, when:  
(a) Marginal Utility is zero (b) Marginal Utility is maximum 
(c) Marginal Utility is equal to 

average utility 
(d) Average Utility is maximum 

 
2- fxfQu inkFkksaZ dk ek¡x oØ gksxk% 
¼d½ {kSfrt ¼[k½ nk;ha vksj uhps fxjrk gqvk 
¼x½ cka;h vksj ihNs fxjrk gqvk ¼?k½ nk;ha vksj Åij mBrk gqvk 
 
 Demand Curve of Giffen goods will be: 
(a) Horizontal (b) Falling downwards right 
(c) Falling backwards left  (d) Rising upwards right 
 
3- ?kfV;k oLrq ds fy, vk; ek¡x dh yksp gS% 
¼d½ /kukRed ¼[k½ 'kwU; 
¼x½ _.kkRed ¼?k½ vuUr 
 
 Income elasticity of demand for inferior goods is  
(a) Positive (b) Zero 
(c) Negative (d) Infinite 
 
4- ,d leksRikn oØ 
¼d½ nk;ha vksj Åij mBrh gS ¼[k½ mn~xe fcUnw ds mUurksnj gS 
¼x½ nk;ha vksj gksuk de mRiknu dh 

vksj ladsr djrk gS 
¼?k½ ,d nwljs dks dkVrs gSaA 

 
  

An Isoproduct curve:  
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(a) Rising upwards right (b) Convex to the origin 
(c) Towards right indicate less 

production 
(d) Intersect each other  

 
5- fdlh QeZ dk ykHk vf/kdre gksus ds fy, igyh vko';d 'krZ D;k gS 
¼d½ AC=MR ¼[k½ MC=MR 

¼x½ MR=AR ¼?k½ AC=AR 
 
 First necessary condition for a firm for maximum profit is  
(a) AC=MR (b) MC=MR 
(c) MR=AR (d) AC=AR 
 
6- iw.kZ izfr;ksfxrk ds vUrxZr] fdlh QeZ dk ekax oØ gksrk gS& 
¼d½ iw.kZ csykspnkj ¼[k½ csykspnkj 
¼x½ ykspnkj ¼?k½ iw.kZ ykspnkj 
 
 Demand curve under perfect completion  
(a) Perfectly Inelastic (b) Inelastic 
(c) Elastic (d) Perfectly elastic 
7- viw.kZ izfr;ksfxrk dk izfriknu fdlus fd;k& 
¼d½ ek'kZy ¼[k½ pSEcjfyu 
¼x½ fi;jks lzkQk ¼?k½ tksu jkfcUlu 
 
 Who propounded imperfect completion   
(a) Marshall (b) Chamberlin 
(c) Pierro Sraffa (d) Joan Robinson  
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8- C;kt nj dk fu;ksDykfldy fl)kUr dkSu gS& 
¼d½ IS-LM fl)kUr ¼[k½ rjyrk vf/keku fl)kUr 
¼x½ le; vf/keku fl)kUr ¼?k½ m/kkj ns;dks"k fl)kUr 
 
 What is the neoclassical theory of interest  
(a) IS-LM Theory (b) Liquidity Preference Theory 
(c) Time Preference Theory (d) Loanable Fund Theory 
 
9- le lhekUr mi;ksfxrk dk izfriknu fdlus fd;k\ 
¼d½ tsoUl ¼[k½ esatj 
¼x½ ek'kZy ¼?k½ ihxw 
 
 Equi Marginal Utility was propounded by whom?   
(a) Jevons (b) Menger 
(c) Marshal (d) Pigou 
 
10- ykHk dk uo izorZu fl)kUr fdlus izfrikfnr fd;k Fkk\ 
¼d½ MsfoM fjdkMksaZ ¼[k½ dkyZ ekDlZ 
¼x½ ,Q Vkftx ¼?k½ ts-,- 'kqEihVj 
 
 Innovation Theory of Profit was propounded by whom? 
(a) David Ricardo (b) Karl Marx 
(c) F. Tauzig (d) J.A. Schumpeter 
 


